Figure 11-4

mandc :-


developsolution([left(3, 3)], Final),


displayresult(Final).

transit(left(M1, C1), right(M2, C2))
:-


inboat(M, C),


M <= M1,


C <= C1,


M2 is M1 – M,


C2 is C1 – C,


nodevouring(M2, C2).

transit(right(M1, C1), left(M2, C2))
:-


inboat(M, C),


M2 is M1 + M,


C2 is C1 + C,


M2 <= 3,


C2 <= 3,


nodevouring(M2, C2).

displayresult( [ ] ) :- !.

displayresult( [X, ..]) :-


displayresult(Y),


write(X),


n1.

nodevouring(M, C) :- (M = C | M = 3 | M = 0).

developsolution( [right(0, 0), ..Prior], [right(0, 0), ..Prior]) :- !.

developsolution( [This, ..Prior], Final) :-


transit(This, Next),


not(member(Next, Prior)),


developsolution([ next, This, ..Prior], Final).

member(State, [State]) :- !.

member(State, [State, .._]) :- !.

member(State, [_, ..X]) :- member(State, X).

inboat(2, 0).

inboat(1, 1).

inboat(1, 0).

inboat(0, 1).

inboat(0, 2).
